
 

 

Lesson 2: Evaluating Algebraic Expressions 
 
Section 1: Substituting Values for Variables 
 
Evaluate each expression by substituting the given values for the variables. 
 
1) 2𝑥 + 3 𝑤ℎ𝑒𝑛 𝑥 = 4 

 
2) 5𝑎 − 2𝑏 𝑤ℎ𝑒𝑛 𝑎 = 3 𝑎𝑛𝑑 𝑏 = 7 
 
3) 4𝑚2 − 6𝑛 𝑤ℎ𝑒𝑛 𝑚 = 2 𝑎𝑛𝑑 𝑛 = 1 
 
4) 3𝑝 + 𝑞2 − 2𝑟 𝑤ℎ𝑒𝑛 𝑝 = 5, 𝑞 = 3 𝑎𝑛𝑑 𝑟 = 4 
 
5) 2𝑥3 + 𝑦 ÷ 𝑧 𝑤ℎ𝑒𝑛 𝑥 = 2, 𝑦 = 9 𝑎𝑛𝑑 𝑧 = 3 

 
Section 2: Order of Operations 
 
Substitute the given values for the variables, then use PEMDAS/BODMAS to solve. 
 
1) 3𝑥 + 2𝑦 = ? 

𝑥 = 4 𝑎𝑛𝑑 𝑦 = 5 
 

2) 4𝑎2 − 2𝑏 + 𝑐 = ? 
𝑎 = 3, 𝑏 = 5 𝑎𝑛𝑑 𝑐 = 2 
 

3) (𝑥 + 𝑦)2 ÷ 𝑧 = ? 
𝑥 = 2, 𝑦 = 6 𝑎𝑛𝑑 𝑧 = 4 
 

4) 2𝑚 + (𝑛2 − 3𝑝) = ? 
𝑚 = 4, 𝑛 = 5 𝑎𝑛𝑑 𝑝 = 3 
 

5) 5(𝑎 + 𝑏)2 − 𝑐 = ? 
𝑎 = 1, 𝑏 = 3 𝑎𝑛𝑑 𝑐 = 10 
 

6) 2𝑥3 + 3𝑦 − 4𝑧 = ? 
𝑥 = 2, 𝑦 = 1 𝑎𝑛𝑑 𝑧 = 3 

 
7) (4𝑝 + 𝑞)2 ÷ 𝑟 = ? 

𝑝 = 3, 𝑞 = 2 𝑎𝑛𝑑 𝑟 = 10 
 

8) 3(𝑎 + 𝑏)2 + 2(𝑐 − 𝑑) = ? 
𝑎 = 1, 𝑏 = 2 𝑐 = 6 𝑎𝑛𝑑 𝑑 = 3 
 

9) 2[𝑥 + (𝑦 × 𝑧)2] = ? 
𝑥 = 3, 𝑦 = 2 𝑎𝑛𝑑 𝑧 = 3 
 

10) [(2𝑎 + 𝑏)3 ÷ 𝑐] − 𝑑 = ? 
𝑎 = 2, 𝑏 = 1, 𝑐 = 4 𝑎𝑛𝑑 𝑑 = 3 



 

 

Answer Key: 
 
Section 1: 
 
1) 2(4) + 3 = 8 + 3 = 𝟏𝟏 

 
2) 5(3) − 2(7) = 15 − 14 = 𝟏 
 
3) 4(2)2 − 6(1) = 4(4) − 6 = 16 − 6 = 𝟏𝟎 
 
4) 3(5) + (3)2 − 2(4) = 15 + 9 − 8 = 𝟏𝟔 
 
5) 2(2)3 + 9 ÷ 3 = 2(8) + 3 = 16 + 3 = 𝟏𝟗 
 
Section 2: 
 
1) 3(4) + 2(5) = 12 + 10 = 𝟐𝟐 

 
2) 4(3)2 − 2(5) + 2 = 4(9) − 10 + 2 = 36 − 10 + 2 = 𝟐𝟖 

 
3) (2 + 6)2 ÷ 4 = 82 ÷ 4 = 64 ÷ 4 = 𝟏𝟔 

 

4) 2(4) + (52 − 3(3)) = 8 + (25 − 9) = 8 + 16 = 2𝟒 

 
5) 5(1 + 3)2 − 10 = 5(4)2 − 10 = 5(16) − 10 = 80 − 10 = 𝟕𝟎 

 
6) 2(2)3 + 3(1) − 4(3) = 2(8) + 3 − 12 = 16 + 3 − 12 = 𝟕 

 
7) (4(3) + 2)2 ÷ 10 = (12 + 2)2 ÷ 10 = 142 ÷ 10 = 196 ÷ 10 = 𝟏𝟗. 𝟔 

 
8) 3(1 + 2)2 + 2(6 − 3) = 3(3)2 + 2(3) = 3(9) + 6 = 27 + 6 = 𝟑𝟑 

 
9) 2[3 + (2 × 3)2] = 2[3 + (6)2] = 2[3 + 36] = 2(39) = 𝟕𝟖 

 
10) [(2(2) + 1)3 ÷ 4] − 3 = [(4 + 1)3 ÷ 4] − 3 = [53 ÷ 4] − 3 = [125 ÷ 4] − 3 = 31.25 − 3 = 𝟐𝟖. 𝟐𝟓 


	Lesson 2: Evaluating Algebraic Expressions

